
 

 مسئله ژوزفوس:

14

n4n

4k

n=10 

9 , 1 , 7 , 3 , 10 , 8 , 6 , 4 , 2 

5

 J(n) 

J(1) =1                                                      

J(2n) = 2J(n)-1                    , for n>= 1 , 

J(2n+1) = 2J(n)+1                 for n>=1; 

 

n J(n)



 

n = 100 = (110010)2            , 

J(n) = (1001001)2 = 73

p ← First(L) 

while next[p] ǂ p 

 do Delete-After(L,p) 

  p← next[p] 

Print element[p] 

 

C++

int Josephous(Node *head ) { 

Node *p=head; 

while(p->next != p){ 

 remove(p->next); 

 p = p->next; 

} 

cout<< p->data; 

} 


